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Corrigé de I'exercice 1

Développer chacune des expressions littérales suivantes :

A= (9z—8)?
A= (92> —2x 9z x 8+ 82

A=81z2—1442+64

B=(Tz—5)x (Tz+5)

B = (72)* - 52
B=492% - 25

C’:(5x+4)

C=0r)?+2x5z x4+ 42

C=2522+40x+ 16

D=0Oz+1)x(x—-9)
D= 9:U><a3+9x><( 9)+1xx+1x(-9)
D=9z -8lz+x—-9

Corrigé de I'exercice 2

Développer chacune des expressions littérales suivantes :

A= (2z+8)?
A= (22 +2x2x x 8+ 82

A=42%+327x+ 64

B=(6zx—-7)x(6z+7)
B=(62)>—-17°

B =362%—49
C = (395—3)2
C=@Bz)?—2x32x3+32

C=922—-182+9

D=(Tx+5)x(bx—T1)
D=Texbx+Texx(=7)+5x5x+5x(=T7)
D=352%2—-492+ 252 — 35

D =352+ (—49+25) z — 35

Corrigé de I'exercice 3

Développer chacune des expressions littérales suivantes :

A= (5z—8)>
A=(52)" —2x 5z x 8+ 82

A=2522—-80x+64

D=9z + (-81+1)z—9

D=9z2-80x—-9

E=—(10z—9)
E=—((102)" -2 x 10z x 9 +9?)
E=— (10022 — 180z + 81)

E =—-1002% 4 180z — 81

P ()

r= - (2)

4
F=642%2— —
ST

D=352%2—-242—-35

E=- (x—2)
E=— (2 —2xxx2+2?)
E=— (2> -4z +4)

E=—-2?+4z—4

~ (52 +3)
10777
1 \2 1 9
F = (1Ox> +2><Ex><?+
1 9x g 81
~ 100 35 x 7

()

z? +

x+49
1 9

24+ =
100" * 35"

(5:c—8) X

B= (52 +8)
B=(52)*—82

B=2522—-64
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C=(10x+1) x (x—10)
C=10xxx+10z x (—10) +1 x z + 1 x (—10)
C=1022-100x + z — 10
C=1022+ (=100 + 1) = — 10

C=1022-992— 10

(2 4 8)°

D:
D=(2z)*+2x2x x 8+ 82

D=422+322x+64

=~ (102 —7) x (102 +7)
E=-((102)" -7
E = — (1002% — 49)

Corrigé de I'exercice 4

Développer chacune des expressions littérales suivantes :

A= (z+5)°
A=224+2xxx5+52

A=224+10x+25

(Tx+7)x (Tx—7)

B
B=(7z)> -7

= 4922 — 49

Sy

C=Q2z—-1)x(2z+1)
C=(2z)*-1?

C=4z%2-1

D = (92 —8)*
D=9z)*-2x9x x 8+ 82

D=81x2%2—144x + 64

E=—(z+5)x (z—5)

Corrigé de I'exercice 5

Développer chacune des expressions littérales suivantes

A= (10z+8) x (10x — 8)
A= (10x)* — 82

A=10022 — 64

B = (6z+6)*
B=(6x)42x6x %6+ 6

E = —-10022 + 49

4

3 3 3 3

4 7 4 4 7T 7 7 4
F=-axX-x+-Xsc—oXox— 2 X<

%8 3163 493 % ? 53
F=2y ()x

29 9 9 9
po28,2 33 28

9 9 9
poB o, 11xF - 28

9 2 x3 9
poB U 28

9 3 9
E=—(2? —5?)
E = — (2? — 25)
E=—-22+25

(3 5>><<5 +3>
= _— —_—— — -

10 8 8 10

3 5 5 5

= —ITX-rx+—r X ——=-X-r— =X

10 8 10 10 8 8 8

3xXB 9 25 3x3

16 x 3 100 64 16 x 3

3xXB (9 25) 3xB
F= r*+ | ——=-=) -

16 x 3 100 64 16 x 3
3, (9><16 25><25> 3
= —2z°‘+ - - —

16 10016  64x25 16

3 (144 625) 3
F=—=x — - —

16 1600 1600 16
F*i2 481 3

16 T 1600" 16

B=36x2+72x+ 36

(32 —4)?

C =
C=32)?-2x32zx4+42

C=922—-242+ 16
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D=7 x924+T7Tex7—-—9%x92z -9 %7

—(Tz—9)x (92 +7)

D=632z2+492 —81lx — 63

D =632%+ (49 —81) x — 63

D =632%2—-322—63

8z +1) x (x —8)

8rxz+8xx (=8 +1xz+1x(-8))

(—64+1) x

—

—(

(Sx —64x—|—:1:—8)
—(

— (82% — 63z —8)

Corrigé de I'exercice 6

Développer chacune des expressions littérales suivantes :

A=
A=

9z + 3)
(92)* +2x 9z x 3+ 32

A=81z2+54x+9

B =
B=4xx8x+4xx4—-8x8x—8x4

B

B =322%+ (16 — 64) = — 32

(4x —8) x (8x +4)

=32224+ 162 — 642 — 32

B=322%2—48z — 32

c
C

= (10z +8) x
= (102)* — 8°

(10x — 8)

C=100z%2 —64

D
D

= (92 —10)?

=(9z)>—2x 9z x 10+ 102

_8)

E=-822+63zx+8

D =812%2—-180z + 100

E=—(2z+4)*

E=- (22’ +2x2zx4+4?)

E=— (422 + 162 + 16)

E=—42?>—-16z— 16

1 7\ 2
Fe(zg_1t
(9x 6)
1 2
1 7Tx 2 49
F=— 2 _ e
517 97«37 36
1 7 49
Fe—g2_ Ly
17 T 277 T 36
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